- E (PR 1 &

FAE RPN e AFE R (B ) BB R R B R k A
IARZPEE S AP P LD AR AR R I AR (F) BRI RAR
AL BAFAL PRI AFELERL - > HIBRFHHE LI A
Bt A2 bAZ BE » BRFAEESAE B GB o RPN 25T 0 S
TR REEAFE O RFLALES E'%%’ AR AR e B R ETRE
R/ AR EE AR Fla AR Az A R R A LA 2 REFE
A R R T S R T8 RO < -RNEUE SESIGNE I HONET N QN V- G N
& e

- YR BHRRS

VHEL - EARLES RORG KPR 2,502,506 2 ¢ 0 EA 841,490 2 = 5 FI0K
P o1, 102 & > B # 3K 9,966 A H ¢ ¢ L F e sk 1,945,797 2 ¢} 75.06% - i
A 588, 156 2 ¢ & 69.899 > #1-k ™ 667 A & 60.539% > H # % %% 8,515 A d
85.449% > F & AR A L - & sk B 4e 31,0996 0 ALH| 4e 43. 049 -

RIPERS 2R G EL P R2F 3 HRELE ARG BT ERR
FREEE o oA EP R AT ?iﬂﬁﬁmiié 1AEHcE R AE N LTS
2 TR EkF AL S REF P Aot > FFF S r;:,;;z: WhE LR B
EEERREFRRTL %“’éé*’é%iﬁ
vehafe o HEB i 3 SRS EE -

Eﬂﬂ%,* [ER i

M r‘%ﬁi
2131
s ~=$



B EATELR

ARL - ERLEE RATE A2 E AR B F B 64,600 2 %~ FE A
31,499 = = ~FI-k 26 A 0 H s K2 176 fiwe B P d GARAIER 2P A %wlf%ﬂ'* )
7 60,499 = = F 93.64% > A 27,011 == F 85.759% > #1-kF® 26 A& & 100% » # &=
® 26 159 red 90.349% - AT 1 AR P & ¥R I 59, 267 = § 91,749 > 3 A 25, 808 =
= b 81.93% > #U-k 26 At 1009 > H 5 %25 164 med 93,189 -

|

I PEIREE S BREEE

PAEXREFLFAERLTHE FETFFL  BOE 25T Y4 4R
BEZE S AT > AWML - EE AR R LR ZIRE TG R 1,823 2 A
1,419 &= » H @ 2% T oo

ARL - ERLEFF REBRE R E RS2 EIR G B 80,567 2 0 E
A 69, TT3 2% ~ -k 30 A > H 15K 28D s H ¥ d AR AI%R 2P "}%:f’%ﬂ—l'*ﬁ ’
P fr 59,432 2=k T73.77% » # A~ 40,988 = = F 58.749% » #1-k ™ 14 & & 46.67% » H
#3196 med 68.77% < P & F i@ ""“ » B fr 59,867 & 7k T4.31% 0 E A 43,024 =

¢ 61.66% > #1-k ™ 14 & & 46.67% - ’F! 2% % 204 e T1. 589 °

T~ FRAT IR

ARL - ERLEFF RRBRA T I BT R 12,436 2% ~FE A 4,465 22

A S 44 Bukws 9l ey B d EASURNE LR A RLE 0 kD 12,436

41009 0 FERF 3,818 27 & 85.519% v 54 B 39 F f 88.64% 0 H K 42

b 46.15% < @ & F P M o 37 11,846 = = 4 95.26% 0 kA 3,818 = = 4 85.519%
A S 3T 28k 84.099% 0 H s K F 42 fed 46.159% ©



